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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2015.
III YEAR — V SEMESTER

Major Paper XVI –  FINANCIAL MANAGEMENT
Time : 3 hours
 Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define Financial Management.

2. What do you mean by wealth maximisation? 
3. Define cost of capital.

4. What is Dividend?

5. Give meaning of Net Working Capital.

6. Write short note on Operating Cycle.

7. X ltd., has an EBIT of Rs.2 lakhs. The Cost of Debt is 8% and the outstanding debt amount Rs.2 lakhs. Presuming the Overall Capitalization rate as 12.5%. Calculate the Total Value of Firm under NOI approach.

8. The current Market Price of an Equity Share of a company is `120. the cash Dividend per share is `15. in case the dividend is expected to grow at Rate of 8%. Calculate the Cost of Equity Capital.

9. The capital structure of X ltd., consists of equity of `1, 00,000 and 8% debentures of `50, 000. Calculate the Financial Leverage, if EBIT is `20, 000.

10. The earnings per share of X Ltd., is `15. the rate of capitalization is 14% and the rate of return on investment is 10%. Using Walter’s model. Calculate optimum dividend payout and the price of the share at this payout.
11. A company’s Cost of Equity (ke) is 15%. The Average Tax rate of shareholders is 40% and the Brokerage Cost for purchase of securities is 2%. 

Calculate the Cost of Retaining Earnings.
12. Earnings available for equity shareholders is `1,00,000; Number of equity shares is 10,000; dividend distributed per share `4. compute Dividend payout ratio.
    SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions

13. What are the factors influencing working capital requirements?

14. What are the significations of financial management?

15. Jennifer ltd., is expecting an annual EBIT of `2, 00,000. The company has 

`2, 00,000 in 10% debentures. The equity capitalization rate (ke) is 12%. You are required to ascertain the Total Value of the Firm and Overall Cost of Capital. What happens if the company borrows `2, 00,000 at 10% to repay Equity Capital?

16. A new project requires on investment of `12, 00,000. Two alternative methods of financing are under consideration.

(a) Issue of equity shares of `10 each for `12, 00,000.

(b) Issue of equity shares of `10 each for `8, 00,000 and issue of 15% Debentures for `4, 00,000.

Find out the Indifference level of EBIT assuming a tax rate of 35%.

17. Rose Ltd., is engaged in customer retailing. You are required to estimate in its Working Capital Requirements from the following data:

Projected annual sales:




`9, 00,000

Percentage of net profit to cost of sales:


 20%

Average credit allowed to debtors:

 

1 month

Average credit allowed by creditors:

 
2 month

Average stock carrying (in terms of sales requirements): 2 1/2 months.

Add 10 % to allow for contingencies 

18. X Company earns `5 per share which is capitalized at the rate of 10% and has a return of 18% on investment. According to Walter’s model what should be the price per share at 25% dividend payout ratio? Is this the optimum payout ratio according to Walter?
19. Alpha ltd., issued 10% redeemable preference shares of `100 each, redeemable after 10 years. The floatation costs were 5% of the nominal value. Compute the effective cost to the company. if the issue is made at 
(a) par 
(b) a premium of 5%.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. Dubin Ltd., has Equity Share Capital of `12, 00,000 divided into shares of `100each. It wishes to raise further `6, 00,000 for expansion-cum-modernization scheme. The company plans the following financing alternatives.

(a) Plan A – By issuing Equity Shares only.

(b) Plan B – `2, 00,000 by issuing Equity Shares and `4, 00,000 through Debentures @ 10% p.a.

(c) Plan C – `2, 00,000 by issuing Equity Shares and `4, 00,000 by issuing 9% Preference Shares.

(d) Plan – D by raising Term Loan only at 10% p.a

You are required to suggest the best alternative giving your comment assuming that the estimated EBIT after expansion is `2, 25,000 and Corporate rate of Tax is 40%.

21. Cost sheet of a company provides the following particulars:

Elements of cost

Raw material: 40;
Labour: 10%;
Overheads: 30%

The following particulars are also available:

(a) Raw materials remain in stock for 6 weeks.

(b) Processing time: 4 weeks.

(c) Finished goods are in stock for 5 weeks.

(d) Period of credit allowed to debtors: 10 weeks.

(e) Lag in payment of wages: 2 weeks.

(f) Period of credit allowed by creditors: 4 weeks.

(g) Selling price: `50 per unit.

(h) Production in units: 13,000 p.a.

Prepare an estimate of Working Capital.

22. The following data relates to Bailey Ltd.

Rate of return ( r ) = 12%

Earnings per share = `60

Find out the market price per share in the following case, using Gordon’s

Model:

	Dividend payout (D)
	Retention (b)
	Cost of Capital (Ke)

	25
	75
	20 %

	50
	50
	15%

	80
	20
	10%


23. The following information has been extracted from the balance sheet of Fashions ltd. As on 31.12.94:

	Particulars
	` ( in Lakhs)

	Equity share capital
	400

	12% Debentures
	400

	18% Term loan
	1,200

	
	2,000


(a) Determine the weighted average cost of capital of the company. It had been paying dividends at a consistent rate of 20% p.a.

(b) What difference will it make, if the current price of the `100 share is `160?
———————
[P.T.O.]
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